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ATOMIC STRUCTURE Name

© an aforn is made up of protons and neautrons (both found in the nucleus) and electrons

(in the surrounding siectron cloud). The atomic number is equal fo The number of protons,
The rmass numbaer is equal o the number of protons pius neutrons. In a neutral aiom, he
number of protons eaguals the number of slectrons. The charge on an ion indicates an
mbalance betwsen protons and electrons. Too many slectrons produces.a negative
charge, foo few, a positive charge. e SN

This structure can be written as part of o chemical symbol,

Example: mass
number
¥
f’N 7 protons ]
A
atormic 8 nautrons (15 -7) {}
number ¥ electrons

| Complete the following chart,
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Name Period Date

- Atomic Structure
PART A - SUBATOMIC PAR_TI_GL._E_S

The table below contains information about several elements. In each case, enough information
has been provided for you to fill in the blanks. Assume all atoms are neutral.

Isotope -' Nuclear | Atomic Mass # of # of # of
Name _ Symbol Number Number | Protons | Electrons | Neutrons
1. calcium-40

2 12 24

3 2 2
4 13'97 Au

5. 26 30
]'6.. - 201 80

7 17 18
8 19 “40O

9. silver-108

10. | }“jg Sn

11. | o 1 A
12, | IR 3(9 .84
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ATOMIC STRUCTURE | Nams  KET

© an atom is made up of profons and nautrons (both found in the nucleus) and sleciions
(in the surrounding electron cloud). The atomic number is equat fo the numiber of protons,
The mass number is equal 1o the number of protons plus nedtrons. In a nsufral aiom, he
mumier of profons equals the nurmber of slecirons, The charge on an ion indicales an

. imbaiance between protons and electons. T’Oo many electrons producss G neg_d-’rive
charge, foo few, a posifive charge.

Tis struciure can be written as part of o chermical symol.

Example: mass
number
kP
}?N 7 protons |
A _ )
atomic. 8 neutrons (15 - 7)
pumber _ 7 elecirons
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| ~ Atomic Structure
PART A ~ SUBATOMIC PARTICLES - . _ R
The table below contains information about several elements. in each case, enough information

has been provided for you to fill in the blanks. Assume all atoms are neutral,

Isofope | Nuciear Afomic Mass # of # of # of
Name Symbol Number | Number | Protons | Electrons | Neutrons
, L
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